Quiz – Operations in Java

For each of the following Java expressions, calculate the correct result. Note, assume that numbers without a decimal point are integer and that numbers with a decimal point are double. Parentheses will be used when there is a different level of precedence among the operators. Carry out division to no more than 2 decimal places.

1. 4 * 5 / 3

a. 6.67 
b.2

c. 4
d.  6

2. 7 / 12 * 4 % 3

a. 0

b. 0.0

c. 3
d. cannot divide by zero

3. 7 % 12 * 4.0 / 5

a. cannot divide by zero 
b. 0.0
c. 5.0
d. 5.6

4. (3 / (6 – 8) ) + 6.0

a. 4.5

b. 7.0

c. 5.0
d. 5

5. 100 * 0.25 / 5

a. 5.0

b. 4.0

c. 5
d. 4 

For each of the following descriptions, pick the correct Java statement to carry out the task.

6. Add apples to oranges and store the result in peaches.

a. peaches = apples * oranges;

b. apples + oranges = peaches;

c. oranges = apples + peaches;

d. peaches = apples + oranges;

7. Divide subtotal by number and store the result in total.

a. subtotal = number / subtotal;

b. total = subtotal / number;
c. total = number / subtotal;

d. total = subtotal % number;
8. Declare a constant, RATE, with a value of .0465.

a. constant double rate = .0465;
b. double RATE = .0465;

c. final double RATE = .0465;
d. RATE = (double) .0465;

9. Create an inline comment to describe code to calculate the area of a circle.

a. // The area of a circle is PI * radius squared 

b. /** The area of a circle is PI * radius squared */

c. ** The area of a circle is PI * radius squared **

d. /* The area of a circle is PI * radius squared //
10. Instantiate a Scanner object called keyboard.
a. keyboard = new Scanner(System.in); 
b. Scanner keyboard;

c. import java.util.Scanner;

d. Scanner = new keyboard(System.in);

BONUS (5 points 2 ind 3 group)- Assign the integer part of the double variable big to the int variable small. (Write answer on back of IF-AT and at bottom of individual sheet.

a. big = (int) small;

b. small = (int) big;

c. small = big;

d. big = small;

